Answers to Odd-Numbered Exercises A73

(b) vy = 3 arcsec (x/2) + 1,
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Nn. =/3 1. xw/8 15 37/2
71. (a) Proof (b) In(1/6/2) + (97 — 47/3)/36

79. (a) / (b) 0.5708
() (m—2)/2
Section 5.7 (page 387)
1. arcsinz + C 3 zarctan£+C 5. arcsec|2x| + C |
. aresin 3 -7 2 . arcsec|2x
7. arcsin(x + 1) + C 9. Sarcsin? + C 1 o
1 3 :
1. —arctanL +C 13 larclan (e?¥/2) + C 81. (a) F(x) represents the average value of f(x) over the interval
10 5 4 ;
t [x,x + 2]. Maximum at x = — 1.
15. arcsin( a;x) +C 11 %x: - %ln(.x2 +1)+C (b) Maximum atx = — .
Ix 1 [3x]|
19. 2arcsin/x + C 21 2 In(x> + 1) — 3arctanx + C 83. False. f—‘—— = —arcsec— + C
2 c/9x2 — 12 4
23. 8arcsin[(x — 3)/3] — V6x — x>+ C  25. w/6 S 5
' 85. True  87-89. Proofs

550

1 3 T
31. 5 arctan 5~ 0.108 33. arctan 5 — i 0.588

35. w/4 31 Hw2=0308 39. /2

M. In|x? + 6x + 13| — 3arctan[(x + 3)/2] + C

43, arcsin[(x +2)/2] + C 85 —/—x*—4x+ C ok 20
= +m~ L T 2

o 2V/3+5m=1059 48 jawtanl®+ 1)+ C () s(r) = — 161> + 500z 3906.25 ft

51. 2/ — 3 — 2/3arctan(Ve’ — 3/J/3)+C 53 w/6

55. aandb 57. a,b,and ¢ (c) v(r) = ﬁtan[arctan(SOO\/%) — 32k t}

59. No. This integral does not correspond to any of the basic

integration rules. (d) 2 (e) 1088 ft
61. y = arcsin(x/2) + 7 (f) When air resistance is taken
63. .(a) (b) y = 3 arctan x into account, the maximum

height of the object is not as
great.
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